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BACHELOR'S DEGREE PROGRAMME 
Term-End Examination 

June, 2016 

ELECTIVE COURSE : COMMERCE 
ECO-14 : ACCOUNTANCY-II 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : Attempt any four questions including question 
no. 1 which is compulsory. 

1. Attempt any two of the following questions : 	7, 7 
C\.1 
0 (a) Distinguish between the Sacrificing ratio 

and Gaining Ratio. What are the 
adjustments required at the time of CD retirement of a partner ? 

(b) What do you understand by redemption of 
debentures ? Describe the different ways 
in which debentures can be redeemed. 

(c) What is Analysis of Financial Statement ? 
Explain the techniques of comparative and 
common size financial statement used for 
the purpose. 

(d) Discuss stock and debtors system of Branch 
accounting with examples. 
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2. (a) Can a company forefeit shares for non-  6, 6 
payment of calls ? If so, what is the 
procedure to be followed for forefeiture of 
shares ? 

(b) How are inter-departmental transfer of 
goods treated in departmental accounts ? 

3. (a) Explain the significance of Ratio Analysis 
	

3 
in the financial decision making. 

(b) Following is the Profit and Loss Account and 
	

9 
Balance Sheet of a company. 

PROFIT AND LOSS ACCOUNT 
Dr. Z Cr. Z 

To opening By Sales 10,00,000 

stock 
1,50,000 

To purchases 3,00,000 By Closing 

stock 
2,50,000 

To Direct By Profit on 

Wages 2,00,000 sale of 

shares 

50,000 

To 

Manufacturing 

expenses 

1,00,000 

To 

Administration 

expenses 

50,000 

To Selling and 

distribution 

expenses 

50,000 

To Loss on sale 

of plant 
55,000 

To Interest on 

debentures 
10,000 

To Net profit 3,85,000 

13,00,000 13,00,000 
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BALANCE SHEET 
Liabilities Z Assets 

Equity share Fixed assets 2,50,000 

capital 1,00,000 

Preference Stock 2,50,000 

share capital 1,00,000 

Reserves 1,00,000 Sundry debtors 1,00,000 

Debentures 2,00,000 Bank 50,000 

Sundry 

creditors 1,00,000 

Bills payable 50,000 

—6,50,000 6,50,000 

Calculate any three of the following ratios : 
(a) Gross profit ratios. 
(b) Current ratio 
(c) Debt equity ratio. 
(d) Stock turnover ratio. 
(e) Liquidity ratio. 

4. Poonam Limited issued a prospectus inviting 	12 
applications for 6,000 shares of 10 each at a 
premium of 2 per share, payable as follows : 
On application 	 2 per share 
On allotment 	 5 per share 

(including 
premium) 

On 1st call 	 3 per share 
On second and final call 	2 per share 
Applications were received for 9,000 shares and 
allotment was made pro rata to the applicants of 
7,500 shares, the remaining applicants were 
refused allotment. Money overpaid on 
applications were applied towards sum due on 
allotment. 
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A, to whom 100 shares were allotted, failed to 
pay the allotment money and on his subsequent 
failure to pay the allotment money and on his 
subsequent failure to pay the first call, his shares 
were forfeited. B, the holder of 200 shares, failed 
to pay both the calls, and his shares were forfeited 
after the second and final call. 
Of the shares forfeited, 200 shares were sold to C 
credited as fully paid up for 8.50 per share, the 
whole of A's shares being included. 
Show Journal and Cash Book entries in the books 
of the company. 

5. The following was the Balance Sheet of D, E and 12 
F who were equal partners, on 1st April, 2012. 

Liabilities Z Assets Z 

Bills Payable 13,300 Cash 5,600 

Creditors 16,000 Debtors 10,800 

Capital Stock 41,400 

Accounts 

D 36,800 Furniture 17,400 

E 32,600 Building 49,500 

F 26,000 

1,24,700 1,24,700 

They agreed to take H into partnership and give 
him a one-fourth share in the profits on the 
following terms : 
(a) That H should bring in 9,000 for goodwill 

and Z 25,000 as capital. 

(b) That Stock and Furniture be depreciated by 
10 per cent. 

(c) That a Provision of 5 per cent on Debtors be 
created for Doubtful Debts. 
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(d) That a liability for 1,580 be created against 
bills discounted. 

(e) That the value of the building having 
appreciated, the Building should be valued 
at 62,000. 

Give the entries necessary to give effect to the above 
arrangement, and prepare the opening Balance 
Sheet of the firm as newly constituted. 

6. On 1st April 2009 Jolly Tourist Transport Co., took 12 
three cars of the cash sale price of 1,00,000 each 
on hire purchase system from Tata Motors Ltd. 
The terms of the hire purchase contract include a 
total cash down payment of 75,000 and the 
payment of the remaining cash price of the cars 
in three equal annual instalments together with 
interest @18% per annum on outstanding balance, 
the instalment with interest being payable on 
31st March every year. 
First year dues were duly paid but thereafter the 
hire vendee failed. Consequently, Tata Motors 
Ltd. served notice for repossession of the cars. 
But after negotiation, Tata. Motors Ltd. agreed to 
leave one car with the hire purchaser and adjust 
the value of the other two cars against the 
outstanding amount. Jolly Tourist Transport Co. 
provided depreciation at 20% per annum on 
diminishing balance but Tata Motors Ltd. took 
back the two cars, valuing them on the basis of 
25% annual depreciation on straight line basis. 
You are requested to prepare the necessary ledger 
accounts in the books of Jolly Tourist Transport 
Co. on the assumption that they close their books 
of account on 31st March every year. 

ECO-14 
	

5 	 P.T.O. 



1.34.341.-14 

tildch 	chl 

klAil Truk% 

2016 

.94) 41ckc161h4 : cil u14cI 

tA.311.-14 : 

c4141q : 2 W2 
	

afF-1*--d77 34-  : 50 

yff *7 : 70% 

I: icsh17 WIT 	 dri( ft4(q.  fq-A#Mq-1 #077 1 711M-6 

e, *Ear*- 7:1F ~ft' 

1. 	14-1 	4 A cr).. 	mki** d7R fot : 

(a) 7117T 3.70 *MIT 39qTff * 	atT "Td1-47 I 

't1 1-114 

M4FTW. 

 

04t? 

(b) ErliTAI*7114-4 3Trq wurrO t? 

7114ff 	rcIIIT fafw 	r qui-r 

(c) 1-4917 -N-4P191* rcIkc)tiuf A err w-e3-4 t? 
	 31T N-471 fetTql 

eel Mgr -Wr".  I 

(d) ilk 	4  4dTct) ath 	{ 3fuTTA, 

dcwum wiTT5c1T -*I* I 

7, 7 

ECO-14 	 6 



2. (a) AzIT 	cw-vi *FT 	77T7 7 NA, 7T4 6, 6 

ITT 	 tichca t? zird. 

f~ slit 716,01 	5ifinii writ? 

(b) 71T4 Vr al-MiTrriTAT wimur ftf -*7 	4 
cbqi waT t? oeil(54( wlf.A71 

3. (a) fad 	3171ff rowIttui i-mra 	3 

~rTrr I  TIC-4q 
(b) 7.w 4)411 Vf W41 311K 	1301 72Tr ;)atf AZ 	9 

14-1 	tsid t : 

wry aft/Am-di' 
Dr. Z Cr. 

1,50,000 10,00,000 al'Ett471 te.ict, 

Wzf 3,00,000 2,50,000 

31M-T Tr--0 2,00,000 

(Direct) 
50,000 

'~
 

1,00,000 rqr.vilui) -am 

50,000 mmii arzi 

-NA-  3* fquur 
50,000 

'WTI 

Titl. 	fA tg 
55,000. 

V -I 

et4t1 TR wTR 10,000 

3,85,000 fiqF WIT 

13,00,000 13,00,000 

ECO-14 



kzr-O z 4 ttill rleil 

2,50,000 

1,00,000 

2,50,000 

1,00,000 

1,00,000 1,00,000 -v 

tr 

2,00,000 50,000 

1,00,000 

50,000 

6,50,000 6,50,000 

1-miorigo 4 col 	*ff arlqrdi  	: 

(a) ticbri 9131 aTTITU 

(b) 11q, 3TrIff 
(c) wur thzrel arltiff 

(d) trim 33T-14 3911M 

(e) otricti 3Ttri'd 

4. 	tiffiT fa. A 6,000 it ., 54c ch slit 10 	2 mriiii4 12 

3T r4.49 	 mracKui ■7111 14 	1I 24T, 

ar-4-4-9. 	 2 miii *r{ 

3TT-479. 	 z 5 "AN' -qizR (51 	 

11f0) 

TWA (No TR 	 3 IT% 	 

	311K aif-drt gal TR 	2 Aft 	)tit 

ECO-14 	 8 



9,000*14 * 1 	1l 31r4q9 trq 317 7 4 311T 3TrItai-dw 

31l-47ff 7,500 	air #T1 	rcbil 7711 *21 

31*—A 	3T077 ict)1( 	Rii TrzTr I 31r c1 

aTrt-il z1ZTrrqr afw tit 	i t 3Tr4-eff tzr (Ai 

1-Tic TT tzTt Trza I 

A, t4T1-4' 100 ileR alteeff et) 	77 4, 31r-4-e7 (1 kl 

rnta arfrm -Tr 131r-4-eff -Trfw Tr 3t1T 3fl4 

'Wq tr-01.  ctal r gTari 7 cbt 	371* 	7" "W{ 

mi 77 I B, 200 	%TRW 21T, 

'irr-drff ci.) 	fa tm 77, 3 	* 

*fF *AK 3t-Id) 	AGO 	rm 77 I 	rct) 

*14 .14 C 200 	1t4t 8.50 "51fw * ?ON 

"474 1;17ff "49•1-c•TTR I FAA A*71311' 	711FTU 41 

4,441TuT1 -14 ■314M aff“).-  G461 ArtdtitfcgiR 

5. 	1 aft 2012 t D, E, F .-q)• cRIGR 4TIT11-q{ 	dict) 	12 

447 kik 1-14-irofigo t : 

t2r0 Z ? 41.i ritil 

13,300 5,600 

16,000 10,800 

41,400 f
 e 36,800 17,400 

32,600 49,500 

26,000 

1,24,700 1,24,700 

ECO-14 
	

9 	 P.T.O. 



4 14-i tgi 	TR Fi 	1.711-711. 	 .3.7-A- 

ic=r) Anil (4) f-6.{:t:ff t-4   	t : 

(a) H 9,000 Wed 3 	25,000 

ort.;iii 

(b) tic *Th-917T7T 10% *I 1.rivt-f 1 II 1 

(c) 	ITT 5% W.  3Tqt1.9 Tir7N.  WuT 

W4 I 

(d) schid.)4s 	Wirt,  1,580 W 

	I 

(e) %M.  W vel 	t 1 	62,000 IR Trlif*ff 

ichii 7P:if I 

ZERtlit  	cnta *f-073-Trwzrwzt-ici 

m q te.qi -TzTrz147-41-1:Fritgl:r 	( 1/grniW) 

t.ilt 

6. 	1 3131 -  1 2009 .T1 iTdl TFTIZ 	 tff 	12 

f*-ITErr tgilq .sturra 	zrer 1tz4 fR. 	-ichq 

qsb1 	z 1,00,000 31ru TR *1 fir aTOtT 

75,000 T icnc Trdri 7T1fTM t 	*Ef 

	

ch trti 18% ce-ilzi 3113ZI4T-437 4-47) 	TIRT tff 

clirtieb GitIcit ft`491 	t I f 	 * 7121.  

mce-)ch 	31 T1T4 	ITM17 rq,a 7 f 31M-IN *I 

ECO-14 	 10 



Tr-0 	Trill 4 TaT9' fcq TR a* dti4) 	('cbuqf 

cu liTTUN ct>t 	rap-mirm I -Era 41d4*. 	 

ctA * fry irdt1 At Rhin ar-df -*-mq zTZr 

1-*-Trzrr w-(-1-4TT -Erm 	WR*44 * 6(14) 

	

cr*ii*T   kViiqr‘110 CtA * 	 

fait 	Trzrr 41(11 44e.-1 
feti -4 20% kmuif ite-e-mq cithoi t I ZTZT 1-ild4 

a)14 . 	 diet)! IV* 	ltgi -r-Ifq- 

RT 25% turulf itc-tivfl*fg*T4* vim t I 

\Tirol ft-t:Z Tt(TEM 	'TRIA aTr4Fr* -  C1 At tgl 

ts4-1R i 	5irciati trial 	31174 	 

ECO-14 	 11 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

